24 MER  SYM-UR-FAB

Installation Guide

& P
@ X4 X4 ‘I-I X2 X4 \\:
p

M10 x 45mm M10 Washer M10 Nylon Nut M8 x 25mm Flat M5 Allen
Hex Bolt Socket Screw Key

Floor Plate

Remove the side strips from the extrusion upright bar.

M10 Washer
R e

M10 Nylon Nut b M10 x 45mm

) { Hex Bolt
= M8 x 25mm Flat
/ Socket Screw
Ly

www.premiermounts.com | North America 800.368.9700 | International +1-714-632-7100

1321 S. State College Blvd., Fullerton, CA 92831 USA 9500184_0



